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MANAGEMENT ACCOUNTING—II
(MCQ + Theory)
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Maximum Marks—40

N.B. .— () Attempt All questions.
(i) Figures to the right indicate full marks.
(i11) Use of simple non-programmable calculator is allowed.
(tv) Working notes are necessary, which carry marks.
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1. The following data relate Shri Ganesh Co. Ltd. Ambajogai. 10
Particulars
Years Capital Fixed Current Current
Assets Assets Liabilities
(Rs.) (Rs.) (Rs.) (Rs.)
2010 2,00,000 1,50,000 90,000 40,000
2011 2,50,000 1,80,000 1,40,000 70,000
2012 2,80,000 2,00,000 1,50,000 70,000
2013 3,00,000 2,10,000 1,70,000 80,000
2014 3,50,000 1,90,000 2,60,000 1,00,000
2015 4,00,000 2,00,000 2,90,000 90,000

P.T.O.
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From the above figures, calculate Trend Percentage/Trend Ratio of each item,

faawur

oA WUt

(%)
90,000
1,40,000
1,50,000
1,70,000
2,60,000
2,90,000

EEERk
(%)
40,000
70,000
70,000
80,000
1,00,000
90,000

aRe ATeheuEe Ui Uerd Uaewd/Yaxil ST STER 96 2010 ¥9A SIFVE .

Gauri Company considering to purchase a machine. Two machines A and B

are available each costing Rs. 60,000. Earnings after taxation are as

Discount (NPV) factor

Cash Flow

10

Machine A Machine B

(Rs.)
15,000
20,000
25,000
15,000

(

taking 2010 as a base year.

Tele difedt ST &. {1, STememmg v Heei ome -
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(%) (%)

2010 2,00,000 1,50,000

2011 2,50,000 1,80,000

2012 2,80,000 2,00,000

2013 3,00,000 2,10,000

2014 3,50,000 1,90,000

2015 4,00,000 2,00,000

follows :

Year

at 10% for Re. 1

First year 0.909
Second year 0.826
Third year 0.751
Fourth year 0.683
Fifth year 0.621

10,000

(Rs.)
5,000
15,000
20,000
30,000
20,000
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Which machine would you recommend and why ? Use Discounted cash flow
method.
T JHEd Tk I3 ©REl e TR, oF I3 A 37l B <H=l Ycdeh! fhdd
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gEA TAHH qo T A I B
(%) (®.)
qfeet I 0.909 15,000 5,000
T T 0.826 20,000 15,000
fam ol 0.751 25,000 20,000
EIDRCL 0.683 15,000 30,000
qree o 0.621 10,000 20,000
T o I AR e enfor 1 7 oT9ed U@ 9gd AT
Or
(fenam)

You are given the following figures relating to ‘Sayaji Raje Akluj Ltd.” for
the year 2015 :

Items Budgeted Actual

(Rs.) (Rs.)
Sales 60,000 70,000
Direct Materials 20,000 25,000
Direct Wages 10,000 8,000
Administrative Exp. 9,000 12,000
Finance Expenses 3,000 3,000
Selling Expenses 6,000 8,000
Tax 2,000 2,500

P.T.O.
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Prepare Responsibility Accounting Report for the profit centre showing there

in variances from budget in absolute figures.
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(®.) (%)
IEEQ 60,000 70,000
JAg w 20,000 25,000
JAE AL 10,000 8,000
ERICE ke 9,000 12,000
IEIRIRCE| 3,000 3,000
st = 6,000 8,000
X 2,000 2,500
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The following are summarised balance sheets of Shriram Company. Prepare

common size balance sheet : 10
Liabilities 2014 2015

(Rs.) (Rs.)
Share Capital 1,00,000 1,00,000
General reserve 30,000 35,000
Profit & Loss Alc 16,000 34,000
Creditors 50,000 32,000
Provision for Taxation 8,000 17,000
Unpaid exp. 1,000 2,000

2,05,000 2,20,000
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Assets

Fixed Assets

Investments

Stock

Debtors

Bills Receivable

Cash

Bank

5

2014
(Rs.)
1,40,000
30,000
15,000
10,000
4,000
1,000

5,000

2,05,000

AP—41—2016
2015

(Rs.)
1,16,000
40,000
30,000
20,000
5,000
5,000
4,000

2,20,000
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2014
(®.)
1,00,000
30,000
16,000
50,000
8,000

1,000

2,05,000

2015
(%)
1,00,000
35,000
34,000
32,000
17,000
2,000
2,20,000
P.T.O.
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GOl 2014 2015

(®.) (%)
R gued 1,40,000 1,16,000
NGERED 30,000 40,000
INSYEEEI| 15,000 30,000
RUThI 10,000 20,000
g 4,000 5,000
e 1,000 5,000
TferehTe 5,000 4,000

Or
(fenam)

Make out an estimate of working capital requirement from the following

information of Vanita Trading Co. :

(A)  Annual Sales—3,00,000 units

(B)  Selling price—Rs. 8 per unit

(C)  Percentage of Net Profit on Cost—25%

(D)  Average credit period allowed to customers—75 days

(E)  Average credit period by suppliers—60 days

(F)  Average stockholding in terms of sales requirements—90 days
(G) Allow 5% for contingencies

(H)  Assume that 365 days in a year

Note : Calculation show in nearest rupee.
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The following are the final accounts of “SONUTAI TRADING CO.” relating
to the year ended 31st Dec., 2015 :

Trading and Profit & Loss Alc

for the year ended 31-12-2015

Dr. Cr.
Particulars (Rs.) Particulars (Rs.)
To Opening Stock 5,000 By Sales 2,00,000
To Purchases 1,20,000 By Closing Stock 7,000
To Wages 50,000
To Gross Profit 32,000

2,07,000 2,07,000

P.T.O.
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To Salaries

To Depreciation
To Rent

To Advertisement
To Int. on loan
To General exp.

To Net Profit

Liabilities
Share Capital
General Reserve
P/L A/c
Long-term loan
Creditors

Bills payable
Bank overdraft

Calculate :

@) Current ratio

@i1) Acid test ratio

( 8)

8,000
1,500
4,000
1,200
800
1,400
15,100

32,000

By Gross Profit

Balance Sheet

as at 31-12-2015

(Rs.)
50,000
10,000
10,100
16,000

4,000
2,000
4,000

96,100

(iiz)  Debtors turnover ratio

@iv) Stock turnover ratio.

Assets

Goodwill

Land & Building
Machinery

Stock

Sundry debtors
Bills Receivable
Cash

Preliminary exp.

AP—41—2016
32,000

32,000

(Rs.)
5,000
55,000
18,500
7,000
8,000
2,000
500
100
96,100
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@refta 3ifad o ' Ea S a9 31 fedeR, 2015 @ WUoled auideEt

FMOR o ATHTATT @

EIES (%) ET (%.)
YRYU hY 5,000 fosat 2,00,000
TR 1,20,000 TERU ThHY 7,000
ESQ 50,000
ke AT 32,000
2,07,000 2,07,000
ERk "~ 8,000 Tehel oy 32,000
ST 1,500
are 4,000
SR 1,200
SIS 800
e ] 1,400
IS T 15,100
32,000 32,000
Rerat faawor
ERn (%.) Howit (%)
q Jiead 50,000 AT 5,000
= et 10,000 yHl 9 HRG 55,000
A T 10,100 = 18,500
ECEANIE G| 16,000 hY 7,000
faefty <ot 4,000 fafay sremol 8,000
ERRERE] 2,000 W= faoA 2,000
arferepter eAfeferent 4,000 T U@ 500
TRt T 100
96,100 96,100

P.T.O.
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(feram)
Write short notes on :
() Importance of Working Capital
@) Methods of Financial Statements Analysis.
g fear fomr .
()  hERN Teda™ HAed

@) Toxig faaxor favasomr=n ggdl.
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